7 7 7
()-1 -1
()-1
15, 800, 000 73,000 /
1
(D 7 7 1 (4 7 7 3 (6)|1 7 1] 56,000 /
(2) 7 6 15 (5)
(3)
2
(1) 216
()] (
( 60, 100 )
11 5m (
2 1. 4km
(2) 80 100 50 100
14 15 210
1. 4km ( 60, 100)
3 (4) +4.0
(5) 73,000 /
/
/
/
(6)
(7
(8) - [} 0.0 +1.0
0.0 -2.0
-13 (1) 0.0 +21.0
[100.1]| 100 100 |[ 104.0] > 700 +g'8 8'8
87,000 / 100 |[ 104.0]|[ 119.8]| 100 ' 0.0 :
(9)
(1)
[ 1| 100 100 [ ]
/ 100 |[ 110 1| 100
(10) -1
- ]
72,800 /
-2
1 1
/
+0.3 |




7 7 7
)-2 -1
()-2
11, 300, 000 63,300 /
1
(D 7 7 1 (4 7 7 3 (6)|1 7 1] 48,000 /
(2) 7 6 15 (5)
(3)
2
(1) 179
()] (
( 60, 150 )
11 6m ( )
2 2. 3km
(2) 20 100 20 60
10 18 180
2.3km ( 60, 150)
(3 (4) +6.0
(5) 63,300 /
/
/
/
(6)
(7
(8) - [} 0.0 -1.0
0.0 +8.0
-1 (1) 0.0 +8.0
[101.0]| 100 100 |[ 106.0] 62 500 8'8 ‘%‘8
68,500 / 100 |[ 100.0]|[ 116.6]| 100 ' 0.0 :
(9)
(1)
[ 1| 100 100 [ ]
/ 100 |[ 110 1| 100
(10) -1
- ]
63,300 /
-2
1 1
/
0.0 |




7 7 8
( )-3 -1
16, 500, 000 65,500 /
1
(1) 7 1 (4) 7 7 3 (6) |1 7 ] 52,000 /
(2 7 15 (5)
(3
2
(1) 252
()] (
( 60, 150 )
1.2 8m ( )
400m
(2 120 140 120 80
11.0 22.0 240
i 12
400m (60, 150)
3 (4) 0.0
65,500 /
(5)
11,000 /
/
/
(6)
(7)
(8 - 0.0 2.0
0.0 -9.0
-13 (1) 0.0 +45.0
[100.1]| 100 100 |[ 100.0] 65 400 +g'8 'é'g
87, 000 100 |[ 104.0]|[ 128.0]| 100 : 0.0 :
(9)
Cr)
[ 11 100 100 |[ ]
100 [ 10 1| 100
(10
(]
65,300 /
1




707 7
()-4 1
( )-4
28, 600, 000 111,000 /
1
(1 707 1 (9 7 7 3 61 7 ] 83,000 /
(2) 7 6 15 (5
(3
2
(1) 258
() (
( 60, 100 )
1.2 6m ( )
2 600m
2 140 70 120 150
12 20 240
600m (60, 100)
(3 (4) +6.0
- 111,000 /
/
/
/
(6)
(7
(8) - [} 0.0 0.0
0.0 -7.0
-13 (1) 0.0 -14.0
[100.1]| 100 100 |[ 106.0] 1 000 +g'8 8'8
87,000 |/ 100 |[104.0]|[ 80.0]| 100 ' 0.0 '
(9
Cr)
[ 1| 100 100 | ]
/ 100 | il 1| 100
(10) -1
- (]
110,000 /
-2
] (|
/
+0.9 |




7 7 8
( )-5 -1
()-5
11, 700, 000 71,000 /
1
(1) 7 7 1 (4) 7 7 (6) 7 ] 54,000 /
(2) 7 6 15 |[(5)
(3)
2
(1) 165
()
( 60, 150)
1.2:1 6m (
2 800m
(2) 50 30 30 50
10 15 150
800m (60, 150)
(3 (4) +4.0
5 71,000 /
/
/
/
(6)
(7
(8) - [} 0.0 0.0
0.0 -4.0
-13 /) 0.0 +29.0
[100.1]| 100 100 |[ 104.0] 1 000 +g'8 '(1)'8
87,000 / 100 |[ 104.0]|[ 122.6]| 100 : 0.0 '
(9
)
[ 1| 100 100 | ]
/ 100 | 1 1| 100
(10 -1
- ]
69,900 /
-2
] (|
/
+1.6 |




7 7 8
)-6 -1
()-6
13, 300, 000 65,000 /
1
(D 7 1 (4 6 7 4 (6)|1 7 1] 51,000 /
(2) 6 10 (5)
(3)
2
(1) 204
()] ( )
( 60, 150 )
1:1.5 3.5m ( )
2 410m
(2) 30 25 18 27
10 18 180
410m (60, 150)
(3 (4) 0.0
(5) 65,000 /
18,700 /
/
/
(6)
(7
(8) - [} 0.0 +2.0
0.0 -1.0
-1 (1) 0.0 +5.0
[101.0]| 100 100 |[ 100.0] 64 600 8'8 ‘%‘8
68, 500 100 |[ 100.0]|[ 107.1]| 100 ' 0.0 :
(9)
(1)
[ 1| 100 100 [
100 [ 11 1/ 100
(10) -1
- ]
63,800 /
-2
1 1
/
+1.9




7 7 8
( )-7 -1
()-7
18, 100, 000 87,100 /
1
(D 7 7 1 (4 7 7 5 (6)|1 7 1] 67,000 /
(2 7 6 15 (5)
(3
2
(1 208
()]«
( 60, 100 )
1:1.5 6m ( )
2 2. 2km
(2 35 30 110 20
12 17 200
2. 2km 3(60» 100)
(3 (4 +4.0
(5) 87,100 /
/
/
/
(6)
(7
(9 - O 0.0 0.0
0.0 0.0
-13 (1) 0.0 0.0
[100.1]| 100 100 [ 104.0] &7 100 +g-8 8-8
87,000 / 100 |[104.0]/[ / 100 ’ 0.0 :
(9
(1)
[ 1| 100 100 | ]
/ 100 | 11 100
(10) -1
L (|
87,000 /
-2
- ]
-13
87,000 /
+0.1 | +0.1




7 7
)-8 1
()-8
15, 800, 000 34,500 1/
1
(1) 707 1 |4 7 7 4 (9l [ !
2 7 6 16 |(5
(3
2
o 458
()] (
( 60, 200)
1:1.2 2.5m ( )
2 1. 6km
2 120 180 70 70
18 2 400
1. 6km 3(601 200)
(3 (4
© 34,500 /
/
/
/
(6)
@
T = - 0.0 +2.0
0.0 2.0
” (1) 0.0 -24.0
0.0 0.0
[ 100.0]| 100 100 |[ 100.0]
26,200 | 100 |[ 100.0]|[ 76.0 ]| 100 34,500 8'8 00
(9
7))
[ 1| 100 100 | ]
/ 100 | il 1l 100
(10) -1
|| (|
34,500 |
2
(] (]
/
0.0 |




7 7 8
()51 -1
()51
40, 800, 000 84,900 /
1
(D 7 1 (4 7 7 5 (6)|1 7 1] 69,000 /
(2 7 15 (5)
(3)
2
(1) 481
()] ( )
( 80, 200)
10. 4m ( )
1.51 3 150m ( 90, 200)
(2) 20 45 110 35
30 15 450
150m ( 90, 200)
(3 (4) -2.0
(5) 84,900 /
34,300 /
/
/
(6)
(7
(8) (| - 0.0 +7.0
0.0 -10.0
51 (1) 0.0 +9.0
[ 100.1]| 100 100 |[ 98.0 ] 84 200 8'8 '(1)'8
89, 200 100 |[ 100.0]|[ 103.9]| 100 ' 0.0 :
(9)
(1)
[ 1| 100 100 [
100 | 110 1| 100
(10) -1
- ]
84,000 /
-2
1 1
/
+1.1




7 7 8
( )52 -1
( )52
22,300, 000 72,000 /
1
(D 7 1 (4 7 7 3 (6)|1 7 1] 58,000 /
(2 7 15 [(5)
(3
2
(1) 310
() (
( 60, 200)
1:1.2 20m ( )
( 70, 200)
(2) 40 20 100 60
15 20 300
1 5km E 70, 200))
(3 (4
5 72,000 /
45,100 |/
/
/
(6)
(7
(8) (| - 0.0 +1.0
0.0 +5.0
5-1 (1) 0.0 +16.0
[100.1]| 100 100 |[ 100.0] 1 000 8'8 ‘%‘8
89, 200 100 |[ 100.0]|[ 124.2]| 100 : 0.0 '
(9
1)
[ 1| 100 100 | ]
100 [ 1 1l 100
(10) -1
- (]
71,800 /
-2
] (|
/
+0.3




7 7 8
( )91 -1
( )91
383, 000, 000 29,000 /
1
(1) 707 1 (4 7 7 5 (61 71 !
1.2
(2) 7 6 15 [(5)
(3)
2
(1) 13, 207
()] ( )
( 60, 200 )
15m ( )
( 70, 200')
(2) 200 110 220 30
130 100 13, 000
2. 6km E - 200>)
(3 (4
5 29,000 /
/
/
/
(6)
(7
(8 = - 0.0 2.0
0.0 +6.0
91 (1) 0.0 -4.0
[ 101.4]| 100 100 |[ 100.0] 28 900 8'8 8‘8
28,400 |/ 100 |[ 100.0]|[ 99.7 ]| 100 : 0.0 '
(9
Cr)
[ 1| 100 100 | ]
/ 100 [ 1 1| 100
(10 -1
- ]
28,300 /
-2
1 1
/
+2.5 |




